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INSTRUCTIONS TO CANDIDATES trfterfft .. f 	14ft 

Read the following instructions carefully before you open 
the question booklet. 

-R.- Th-r3-)-6-4------(01,-,-/ w.-f 	 f4b-EI cp a1i91-4- 

Lia 1 
1. 	Use blue/black ball point pen only. There is no 

negative marking. 
1. 	c cid .qty cbic4 qta- 71-tvz tt.T cm ;ROI' cOi 

+Irid ‘5c\--NI 	-f -q• kkftzT Trrr>Tr .161 t i 
2. 	Part I :- MAT : 1 - 90 questions 

Part II :- SAT : 91 - 180 questions 
2. liTri 1 	: tft-T -&LT--d-r 

	

: 1 	- 90 1R -̀I I 

	

: 91 	- 180 1;179. I 'ITT 2 : 	ity.t .qai--di- 
3. This test booklet contains 180 questions of one mark 

each. All the questions are compulsory. 
3. 	*ti 	51 -I 	.gft"T 1?i 	180 	1 ,-I 	.ftt 	4 i 1 	t I 	TT* 

WI *' \3rN 	.11 3TP4q-rli * I 
4. 	Answer each question by darkening the one correct 

alternative  among the four choices on the OMR 
SHEET with blue/black ball point pen. 

4. 	TA N 	coeq 	# .tcDcid 	ci.) ti Tit rdwezt 	--)- 

/ cl)lc,) 41(1 Izikz t).-1 4 iiqq ,). umiD)c-f ci.) 	I 

Example: 

Correct way: 

Wrong way: 

Student must 
correct answer 

\341E;su1 

-Rift crfict), 
Q. No. Alternatives Q. No. cri---04 

1 0 0 • 0 1 0 ® • 0 
Q. No. Alternatives Q. No. .ftEb-ezr 

1 0 ® CD 0 1  ® 0, 0 41eld c-41T-1 

darkening the right oval only after ensuring 
on OMR sheet. 

wet \3-k-H t - f I-r.ici 	c.17.) 

Li-)4 -EF 

LRT.lici 	fr --i-gt ftweq- 
q5). a* Vic, 31-F ts, Natl. c- 	I 

5. 	Disparity 	in 	mentioning 	(SC, 	ST 	& 	PH) 	in 
application form and OMR sheet can make your 
candidature invalid. 

.T2TT 3Tt -c-ni 31-R Li-;{ 4 34111r (SC, ST 5. 	30-4-9. TA 

& PH) ~7 
AzT c}-) 

3rd7 3TT9- * 	.q11.eiT 	c 	t14`MCII 	cil) 
I fl cpc1 I * 

6. Students are not allowed to scratch/alter/change out 
an answer once marked on OMR Sheet, by using 
white 	fluid/eraser/blade/tearing/wearing or 	in 	any 
other form. 

. 	y 	pct, EiH. wrr-?: Trt -AV .3-c1 	c 	ft-At 
4.t 	m--i-R- so 1 	/ --)---- --ITT ?[ki 	q / 	c..i ,ivict, 

/ ----r Tc-zirft t LiRofki .9b9f cfr 	-14>c). I 

7. Separate sheet has been provided for rough work in 
this test booklet 

7. 	(4,-0-4 	Th---Ri -- 	1q- 	q.-r Li 40,11 4 3Tftftwi. litu 

VI t I 
8. *Please handover the OMR sheet to the invigilator 

before leaving the Examination Hall. 
*Take all your question booklets with you. 

-cll. 3.17 

.) * 

g. 	
*"LET 

ail q .2i 	Li ,N.Tr *Ti 4{4 ,.-! 	6), 	117 -.&.1- 

f 	a ct)) 4Wc4icf tr Wii I 

*3ilit M .-1 rffm-7311 4,1 3N-4 UT2T c 	vil?) I 

9. Darken completely the ovals of your answers on 
OMR 	Sheet 	in 	the 	time 	limit 	allotted 	for 	that 
particular paper. 

9. 	fizTf-Rff m .-1 t 

t 311 71. 3-R 1:17 

co 	\3*I cM f;),ITift-d- TiTizi Alm 

u7 uki ii4) . 4>> I 

10. Your OMR sheet will be evaluated through electronic 
scanning process. Incomplete and incorrect entries 
may render your OMR sheet invalid. 

\T-9. 3TR io. 31-p 	7 3T1 ici 	T.-ft i c.t, 7ttr4-11- pm -11. 

- 5 kl AT! I W471.1 
31-1c1 * 3T1 74 3TH 

I algt UM Vtilut 34t711 
4-)r q3-). AtT ct.) 	-RT--- dt t 1 

11. Use of electronic gadgets, calculator, mobile etc. is 
strictly prohibited. 

11 . *elci-)fct,.R-4-zi--A 	ti4 iulcO, 	11)-4TtF 	T- 1-e4. 	WI 
vzh-Tr rpfu: fktruff t I 
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PART - I 

MENTAL ABILITY TEST (MAT) 

-w-dr Ertur 
(QUESTIONS NO. 01-90) 

\t-k-Q41 01-9o) 

1. Two trains each 500m long are running in opposite 
direction 	on 	parallel 	tracks. 	Their 	speeds 	are 
45km/h and 30 km/h respectively. Find the time 
taken by the slower train to pass the driver of the 
faster one. 
L 	12 sec. 	2. 24 sec. 
3. 48 sec. 	4. 60 sec. 

1. 4 	tft 4).-i):  500 Tird7 -a-141* *, ti'lkick 
trdW tH f4Ertrff fmA 14 -cid Tier ' I 

3-9Th°1. 11-t st)41Ri: 45 	14).t. / E:t1-  3117 30 	14). 

t./ titI g I avi tP 4 	.-i col LIK ct-p ,-) 

.f: 7 	.114t. 	.-f.  TT Id-4r till TiTrzr vci chi? 

1. 	12 ti-$3. 	 2. 	24 't)c5 

3. 	48 	5 	 4. 	60 ')c-5 

2. A sum of money amounts to 29800 after 5 years 
and Z12005 after 8 years at the same rate of simple 
interest. The rate of interest per annum is :- --rfeitIAI -  
1. 5% 	 2.8% 
3. 12% 	4. 15% 

2. -) 	fl 4-11-1 	•RiTURuT 	isLikrf 	4 	q,. 1.17 	-, Tit, 
.-). 5 clti -. GIN 	Z9800 -d-2-TT 8 	cit1 1Iq Z12005 

/ti 6z4N-1 4 qt:- 
1. 5% 	 2. 8% 
3. 12% 	 4. 15% 

3. On selling 17 balls at 2720, there is a loss equal to 
the cost price of 5 balls. The cost price of a ball 
is :- 

	

1. 245 	 2. 250 

	

3. 255 	 4. 260 

3. 17 	4q) 	c1)) 2720 4 ---4--4 tH, 5 	4.q) 	(114 10 

Tffl. 	'' 	szNitsk 	1cM11-1 	6)01 	* I 	'tit.) 	tiq 	col 

mi 4 R-1 l'ffi * :- 

	

1. Z45 	 2. Z50 
 

	

3. 255 	 4. 260 

4. Raman purchased 20 dozens of toys at the rate of 
2375 per dozen. He sold each one of them at the 
rate of 233. What was his percentage profit? 
1. 3.5% 	2. 4.5% 
3. 5.6% 	4. 6.5% 

4. - 7 	-R.  , 4-i-f 	4 	375 	--11-4 	Aft 	q,)-ii-i 	4 	ti20 

q,-1,1 ft--A'4 uti- 1 3-Tr-4 w-?)--4,  fc,1).-ir 233 

* 	t-R9T4 	r I 	,3flcol 	1•4T 	14Did 	/-Lit 

6 411? 
1. 3.5% 	 2. 4.5% 
3. 5.6% 	 4. 6.5% 

5. What percentage of numbers from 1 to 70 have 1 
or 9 in the unit's digit? 

	

1. 15% 	2. 20% 

	

3. 30% 	4. 40% 

5. 1 t 70 cict,  4 't-1 X9.1131 	4 *chl 	31-- 	tR 

1td-- T graTd-  1 	IT 9 	) 411 7  
1. 15% 	 2. 20% 
3. 30% 	 4. 40% 

6. Two workers 'X' & 'Y' are paid a total of 2550 
per week by their employer. If 'X' is paid 120 
percent of the sum paid to 'Y'. How much is 'Y' 
paid per week? 

	

1. 2250 	2. 2200 

	

3. 2300 	4. 2400 

6. ---" TTNTtr 'X' .4 'Y' 	311:1-4 1:W-4Til-  t 2550 

•Cff . 	t1i-c116 	C1R1- 	ct)c) 	g I 	Tilt 	T, "e' 	ct)) 	tr 
\TH.) -41-A-  Tit (PI 120% WIL-cl cl-rW1 *, t 'Y' 

ci.)) ';f1 -  .t-P-c-11 	f+d-4 qit-ci 	Oa t? 
1. 2250 	 2. 2200 
3. 2300 	 4. 2400 

7. The last day of a century cannot be :- 
1. Monday 	2. Wednesday 
3. Tuesday 	4. Friday 

7. .9-0..0 "r+-#1 71di ct-)1 3TfTE R.-i 	\Licocir :- 

1. 	a4-icik 	 2. 	1MTR.  

3. 	1-i 4 ic-icik 	 4. 

8. The Calendar for the year 2007 will be the same 
for the year :- fa7 

	

1. 2014 	2. 2016 

	

3. 2017 	4. 2018 

8. citi 	2007 	4)1 	ci\>cluS, 	1 -;v1. 	'. 	tf 	f --i=1. 	citi 

-1 4-11.-i 	61,11 	:- 

	

1. 2014 	 2. 2016
3. 2017 	 4. 2018 
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9. A library has an average of 510 visitors on Sunday 
and 240 on other days. The average number of 
visitors per day in a month of 30 days beginning 
with a Sunday is :- 

	

1. 250 	 2. 270 

	

3. 280 	 4. 285 

9. "FITet Vic, 	14 	7cri:44R 	cb 	510 	3TI-11AT 	-2.1.-1- 
31w-T 	ff91 	14 	240 	31I-Ttg- 	3TT-4 	* I 	-) 	30 
c--1 cl I ol 	Tier4 14, 	Dflcill 	31TRT4T RW4T7 T4 
001 	A' 	3=144 	Vftftff 	311Uff 	3i141.q4 	4 
'1's .1I 4-ar A-Tft? 

	

1. 250 	 2. 270 

	

3. 280 	 4. 285 
10. How 	many 	bricks, 	each 	measuring 	25cm 	x 

11.25cm x 6cm, Shall be needed to build a wall of 
8m x 6m x 22.5m? 
1. 5600 	2. 6400 
3. 6000 	4. 4800 

10.  25 	At. 	x 	11.25 	At. 	x 	6 	ATI1*. 	4-iit-i 	cbr) 
- d--41 f a.6) 3fl---47-4w-dr 	--41 f'--fft 1b 8 
-d7 	.41-C7 x 6 	x 22.5 ift-d7 cbl ftqw qri 

u1N? 

	

1. 5600 	 2. 6400 

	

3. 6000 	 4. 4800 
11.  287 x 287 + 269 x 269 - 2 x 287 x 269 = ? 

	

1. 354 	 2. 	330 

	

3. 324 	 4. 360 

11. 287 x 287 + 269 x 269 - 2 x 287 x 269 =? 

	

1. 354 	 2. 330 

	

3. 324 	 4. 360 

12. Six bells commence tolling together and toll at 
intervals 	of 	2, 	4, 	6, 	8, 	10 	& 	12 	seconds 
respectively. In 30 minutes how many times do 
they toll together? 
1. 	4 	 2. 	10 
3. 	15 	 4. 	16 

12. 5: Eird-Trf 09R1: 2, 4, 6, 8, 	10 3417 12 .)c. 
* 	3- 7.1F 	IR 	-) 	TiTzl- 	q-- dt * 1 	t 	30 
ftrq-d 14 .4 f+---o-4t qk 	) TTY 4-4tr? 
1. 	4 	 2. 	10  
3. 	15 	 4. 	16  

13. Running at the same constant rate, 6 	identical 
machines can produce a total of 270 bottles per 
minute. At this rate, how many bottles could 10 
such machines produce in 4 minutes? 
1. 648 	 2. 	1800 
3. 	1620 	4. 2700 

GI-1i?  

13. c-,1-) fR 	t -id.) EF, 6 	-1 4-11-1 Fer-4, cpc1 
2704)---d-a- 	ri-f - 	iili-9-- 	i-ii 	Ti-w-01- 	*1 	*fl 
TR, 	4 ftr9z 14 	10 t4t Tret-4, f -ff-4't 

..-T 

	

1. 648 	 2. 	1800 

	

3. 	1620 	 4. 2700 
14. 10 women can complete a work in 7 days & 10 

children take 14 days to complete the work. How 
many days shall 5 women and 10 children take to 
complete the work? 

	

1. 	3 	 2. 	5 

	

3.7 	 4. 	10 

14. 10 1:1-ft-FT-q 7 f491 # 	(.1.) <4)19 VI chi pct 
* 311 	10 .4-- 1 cP) -UR:ft .WFTE .0-  VI chi.) 14 
14 	ff9. 	rills) 	t I'VT 	c.1)') 	* 	f7 	5 
Trita-r311 3117 10 	-4-E-- 	col 14)c-h) f4-9-  d4,1? 
1. 	3 	 2. 	5 
3. 	7 	 4. 	10  

15. What is the sum of two consecutive even numbers 
if the difference of whose square is 84? 

	

1. 42 	 2. 24 

	

3. 32 	 4. 40 
? 

 

15. -41 	3FITT1Tit 	(c1 4110k) 	31I- 	ci1c4) 	s -1 4-f 	\I-kA  131):  
4)1 	7:11-11 	*-11c1 	cO 	tiff 3,-Ici') -4-4 	ct)i 	3FT 	84 

1. 42 	 2. 24 
3. 32 	 4. 40 

16. If 40% of a number is equal to two-third of another 
number. Then, what is the ratio of first'number to 
the second number? 

	

1. 	2:5 	 2. 	3:5 

	

3. 	5:3 	 4. 	7:3 

16. Ti ft 	ch 	'd.  Cq-I 1 	ch 1 	40% 	7Ttl- 	s1.&--11 	c, - 

q)-t---t • * 	cisflcN 	A-, 	cl) 	1-ic>ft 	-4 	mitt 
t1CQ11 (1)1 31-TITff cr-1 1 	0 JIT? 
1. 	2:5 	 2. 	3:5 

 
3. 	5:3 	 4. 	7:3  

17. Two pipes 'A' & 13' can fill a tank in 15 minutes 
and 20 minutes respectively. Both the pipes are 
opened together but after 4 minutes pipe 'A' is 
turned off. What is the total time required to fill 
the tank? 

	

1. 	10min. 20sec. 	2. 11 min. 45sec. 

	

3. 	12min. 30sec. 	4. 14min. 40sec. 

17..--1 zflti 'A' 4 'B' 	Bch Cct) ct)) st)41YI: 15 fil-9Z 
31' 	20 	iii-9-Z. 14 1-Txt t 1 	q)-1\1 t41:1 	c 	ci) 

TiT2T WR-121-1-  ft-TIT 	4141 T-17" 	4 .P1- 	cliq ITF*1:1 
'A' 	4--. 	.0. 	'NI I 	cb 	cb) 	"1-H') 	-'r -7 	ct),Qi 
1'--d -r fl4M 	c1 4) 411? 
1. 	10 iii-q-d 20 ')c.5 	2. 11 f49Z 45 	't)c. 
3. 12 #1-q-d30 	5 	4. 14 ftI-9Z 40 
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18. 	In what ratio must water be mixed with milk to 

gain  16 2  % on selling the mixture at cost price? 
3 

1. 	1:6 	2. 	6:1 
3. 2:3 	 4. 3:2 

18. 	efillc1 tre4 ER #15711 	16  2  % 'Pl' tri. 	-cl.) 
3 

* fq v A itis -4 31-Trra.  Arrrt ftra-Ru 
vil-ii NTEtV 

	

1. 	1:6 	 2. 	6:1 

	

3. 2:3 	 4. 3:2 
19. 	In a 100m race, 'A' can beat 'B' by 25m and 'B' 

can beat 'C' by 4m. In the same race, 'A' can beat 
`C' by :- 
1.21m 	2.28m 
3. 35m 	4. 42m 

19. 100 41t. 	cl5 A, 'A', 'B' t 25411. tH 'fftIT 
-) 'B', 'C' *t 44. ER 1411 	,ticocll t I 	411 

if, 	,A,, ,c,  Th--1 Livil 	\lict)c11 t :- 
1. 	21 	4.1)t, 	 2. 	28 	4'1 
3. 	35 4)t 	 4. 	42 4'i 

Direction :- In question number 20 to 28, find the 	 
missing terms:- 

(.. 	n- W49-  ti t.941 20 t 28 4 flew t1 	GiaiV) :- 

20. 39, 38, ? , 33, 29 

	

1. 35 	 2. 36 

	

3. 37 	 4. 34 

20. 	39, 38, ? , 33, 29 
1. 35 	 2. 36 
3. 37 	 4. 34 

21. 	2.04, 3.09, 4.16, 5.25, ? 
1. 7.49 	2. 6.12 
3. 6.036 	4. 6.36 

21. 	2.04, 3.09, 4.16, 5.25, ? 
1. 7.49 	 2. 6.12 
3. 6.036 	 4. 6.36 

22. 	XC4, WD5, VE6, ? , TG8 
1. FU7 	2. UF9 
3. UF7 	4. UH7 

22. 	XC4, WD5, VE6, ? , TG8 
1. FU7 	 2. UF9 
3. UF7 	 4. UH7 

	

, 	2 	, 	11 	17 	23 

	

2.3. 	- 	: , -, 	, -- 
3 ' 	13 	19 	29 

I. -
5 	

2. 1 

	

7 	 6 

3. 	.--- 	 4. 	-3 

	

7 	 5 

2 	11 	17 	23 23. 	- , ?, -„ 
3 	13 	19 	29 

1.
5 	

2. 	1 

	

-7 	 6 

	

3. 3 	 4. 3 

	

7 	 -5 
24. 

196 

? 3 2 4 4 
24. 

5 

196 

? 

100 169 100 169 

	

1.6 	 2.4 

	

3. 9 	 4. 14 
1.6 
3. 9 

2.4 
4. 	14 

25. 
14 15 714 25.  15 7 

11 21 20 11 21 20 

9 8 15 9 8 15 

17 ? 21 17 ? 21 

	

.6 	 2.4 

	

3.9 	 4. 	14 

	

1.6 	 2.4 

	

3.9 	 4. 	14 
26. 26. ' 

12 5 libil... 12 5 Ob.. 

3 4 Op.- 3 4 11100.- 

8 6 8 8 6 11011110.- 

. 	10 	 2. 	12 
3.7 	 4.9 

	

1. 	10 	 2. 	12 

	

3. 7 	 4. 9 
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27. 

hk A 

45 
63 

27. 
A 

boo,48 

.2. 45 
4. 63 

& 

1. 	5 
3. 65 

41114.8 

2. 
4. 

' 	6 

1. 	5 
3. 65 

28. 

66 
72 

28. 

66 
72 

9 54 6 9 54 6 

7 35 5 7 35 5 

11 ? 8 11 ? 8 

3. 
I. 77 	2. 

88 	4, 
. 	77 	2. 

	

3. 88 	4. 
29. The value of 

5 

4 
-9 
31 
40 

11 

29. 
4 	S i 

TT TIN g? 

2.
9  9 
31 4. 
40 

4 
1+ 

40 1. 

1 
3. 3. 

8 

1 1 + 

40 1. 
31 
1 3. 
8 

3+ 1 3 + 
1 

2 + 4 

2. 

4. 

2 + 4 

30. Arrange the following 

4 	-11 
order :- W'-A-q 

numbers in descending 

3 
4 

-
4 

30. 4-1W-Ici 
:- 

-1 I 

\'1t94,11311 EIZ4 Ct) 44 4 ar""TU 

3 
4 

-4 

4 
-5 '

-2,  

4 
3 
4 

3. -
3 

> 
4 

4 

1. 3>-2> -11 > 
 

2. ->->-->-2 

 20 

-11 

-5 '-2  

1. -3 > 
4 

2. -3 > -11 
4 

3. -3 > 
4 

4 

20 

-2 > -11 > 20 	-5 
4 

20 	-5 

-4 > -2 

4. -3 > 4 > -11 > 

20 

-
4 

> -2 
-5 

-5 

> 
-11 

20 
> 

-5 

-4 >-2> -11 
20 

-2 4. -3 > 4 >
-11

> 

-5 20 

-5 	20 -2 
-5 	20 

31. In the given diagram, find the value of 'x' :- 
A 

70° 

B 	40° 	Di x  

50° 
C 

1. 	120° 	2. 	160° 
3. 140° 	4. 240° 

31. 	f 	74 3T-T-1? 4 'x' W TM *lici 	tf" 	:- 
A 

70° 

B 	40° 	Dix 

50° 
C 

1. 	120° 	 2. 	160° 
3. 	140° 	 4. 240° 
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32. 	The following figure shows a polygon with all its 
exterior angles. Find the value of 'x'. 

5 	°111r 
4x° 

1. 24° 	 • 

2. 27° 	6x° 

3. 21° 
• 

3x° 

32. 	t--.  'f 	41i 3-TITIt .--T-p-  
-f7 -471it 4 I Lf  t I 'x' 	4)1 4-n-i 	vo ml I 

5x° 
4x° 

1. 24° 	li 	 • 

2. 27° 	
6x° 

3. 21 ° 	 .3x
° 

4. 18° 
I2x° 4. 	18° 	 2x°  

33. 	Find the value of 33. 	1-11-1 	-11c1 	t17 	: - 
f 

1 i 2AI 21 1 2V 21.6 = ? 	' 

5 	 5 

	

1. 	22 	 2. 	232  

30 	 31 30 

	

3. 	2 32 	4. 	2 32  

1  2-  1 I 2.\/ 2V 211- 	- - = 

5 	 5 

1. 	22. 	 2. 	23  
31 

3. 	2 32 	 4. 	2 32  
1 	1 

34. 	Find the value of 	+ 	. 
1 	1 

34. 	+ 	mi 91-I t :- 
1+ x-"' 	1+x01 

	

1. 	0 	 2. 	1 

	

3. 	x'" 	 4. 	x-m  

'1 ± .1:-  - "1 	I + X "7  

1. 	0 	 2. 	1 
3. 	x"' 	 4. 	x-'" 

Direction :- In question number 35 to 38, select the 
one which is different from the other three responses one 
or options. 

f447T 	:- 	U 	-1 	.4-k y41 	35 	4 	38 	# 	,:p 	- 
-0 m Df4,ei v-rd-w-04- 	--1- 	-'r 	Q- 3T-f cli,i f4----04 

ftr- 	t 1 ' 
. 

1. 6 - 18 - 24 
2. 10 - 30 - 40 
3. 5 - 15 - 18 
4. 25 - 75 - 100 

35. 
I. 6 - 18 - 24 
2. 10 - 30 - 40 
3. 5 - 15 -18 
4. 25 - 75 - 100 

t 6. 

	

1. 	169 	 2. 	126 

	

3. 289 	 4. 	196 

36. 

	

1. 	169 	 2. 	126 

	

3. 289 	 4. 	196 
37. 

1. BFJN 	2. DHLP 
3. MQUY 	4. GJMR 

37. 
1. BFJN 	 2. DHLP 
3. MQUY 	 4. GJMR 

38. 

	

1. 	191 	 2. 	195 

	

3. 	197 	 4. 	199 

38.  

	

1. 	191 	 2. 	195 

	

3. 	197 	 4. 	199 
Instructions : - In question number 39 to 40. Find the 
odd one out from the following number series:- 

fkft :- 50-1 \`i 	11 39 t 40 4, ‘Lit9/11 3VMT 4 t 
4100 Ifq --t Va . trn 	:- 

39. 6, 9, 15, 22, 24, 30 

	

1. 9 	 2. 22 

	

3. 24 	 4. 30 

39: 	6, 9, 15, 22, 24, 30 
I. 	9 	 1. 	21  
3. 24 	 4. 30 

40. 10, 15, 30, 52, 55, 60 

	

1. 	15 	 2. 	52 

	

3. 55 	 4. 60 

40. 	10, 15, 30, 52, 55, 60 
1. 	15 	 2. 	52 
3. 55 	 4. 60 

Direction : In the following questions (41 to 44) there 
is a certain relationship between two given words on.gr---1- 
one side and one word is given on another side of :: 
While another word is to be found from the given 
alternatives having the same relationship with the 
word as the words of given pair bear. 

-4- 1 : R4--------f 	NO i40 41 t 44) 4 wrii 
-4 	) 	Uti- TN  E,T t 	(fig) 	0-1) 	q cm WI 

.. 31-7/-a 	 vi--- 	.4 	R  t 1 3pra 
A  
9  t 

	5 	i.s.4  futi 	/4,41 Trzir t. u2TT 3ird_ii 	1.54  

Rk Ti- 	@coo-11 4 t -fftitL I 
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41. Moon : Satellite : : Earth : ? 
I. Sun 	 2. Planet 
3. Solar system 	4. Asteroid 

41. tiiq 	: 	\it-1 4,46 	: 	: Litt : 	? 
1 	*14 	 2. 
3. 	\l-n'< 	41u5c,1 	 4. 

42. Car : Garage : : Aeroplane : ? 
1. Port 	 2. Depot 
3. Hanger 	4. Harbour 

42.  ct)N : 	4  '<NI : : 	CHT-111 	: 

1. 	el-qVII 	 2. 	ftril 
3. 	+I.< 	 4. 	N.SH 

43.  Forecast : Future : : Regret : ? 
1. Presentt 	2. Atone 	• 
3. Past 	 4. Sin 

43. IFITTrff : 9-ftszr : : i-R-clicipT : 

	

1. 	qdlifff 	 2. 	4T-i1c111-1 	ctr0-11 

	

3. 	tic 	 4. 1117 
44. Rupee : India : : Yen : ? 

1. Turkey 	2. Bangladesh 
3. Pakistan 	4. Japan 

44. •01-1z11 : 	liTTd.  : 	: 	1-ff : 	? 

1. 	VI 	 2. 	til,eill 
3. 	4atc-11-1 	 4. 	\ANN 

45. What will be the next term in 
BDF, CFI, DHL, ? 
1. CJM 	 2. EIM 
3. EJO 	 4. EMI 

45. 14--1 4 37-FT t cr.11 	)411? 
BDF, CFI, DHL, ? 
I. CJM 	 2. EIM 
3. EJO 	 4. EMI 

46. If 'FRAGRANCE' is written as `SBHSBODFG' 
how can 'IMPOSING' be written? 
1. NQPTJHOJ 	2. NQPTJOHI 
3. NQTPJOHJ 	4. NQPTJOHJ 

46. 41R 'FRAGRANCE' W `SBHSBODFG' i'd.  

t 'IMPOSING' Vf il.  u1Nlif? 
1. NQPTJHOJ 	 2. NQPTJOHI 
3. NQTPJOHJ 	 4. NQPTJOHJ  

47. A girl introduced a boy as the son of the only 
daughter of the father of her maternal uncle, the 
boy is girl's 
1. Brother 	2. Son 
3. Uncle 	4. Son-in-law 

. 

47.7T ---4-1- c-4-----  11 c---7------1Thl.  tENsr ct-P<NI 14, 
zr* A.  Tuff 	%if m't Tw-A-th-  lit mi p 
t. cPict)1 \3ti FT L'I.  fir tTET? 
1. 	ITT-4 	 2. 	119.  
3. 	TIM 	 4. 	414-11q 

48. If 'X' is the brother of the son of Y's son. How is 
`X' related to 'Y'? 
1. Son 	 2. Brother 
3. Cousin 	4. Grandson 

48. i1 	'x', "I' Z V 	V .-.T liT4 t c t 'X', 'V' 

W 6)4ii ? 

1. 	ITF4 	 2. 	p 
3. 	-circii 	 4. 	1:11  

49. Aman is facing west. He turns 45° in the clockwise 
direction and then another 	180° 	in the same 
direction 	and 	then 	270° 	in 	the 	anticlockwise 
direction. Which direction is he facing now? 
1. South 	2. North-west 
3. West 	 4. South-west 

49.  311:F tlfiqii . 1 mit) i6 ct-r 	tql t I qg 

rlf ti 	Ril -4 450  ILli unc11 *1 .34 RII 

14 	o-.  t EpT 	t 	Tii--.  180 1-4, 	‘yitor 	I 	ssilq 
 

ti . f4Ertr-ff f4-vrr 4 270°  TIM t I 31-4 
qU c171.1 #1.  Rw 4 1-"g chi c 1qT t? 

. 

	

1. 	- fuTir 	 2. 	‘31-1&-EffN1T 

	

3. 	1z1Nli 	 4. 	4'%1.--IINTI 

50.  Arrange the given words in alphabetical order and 
tick the one that comes first. 
1. CLOUD 	2. GRUNT 
3. CHAIN 	4. CLIMB 

50. "f 4--1 	W.- 1 	--1 	Ali 	ciuktrif 	* 	Th-li 	4 
itr. 7 Vr48. 	?E 	sP 4-I 4 Ali YI, 5T T.“4-1 

"tf''R' I 
1. CLOUD 	 2. GRUNT 
3. CHAIN 	 4. CLIMB 

51. Which letter is sixteenth to the right of the letter 
which is fourth to the left of I? 
1. 	E 	 2. 	F . 
3. U 	 4. V 

51. 74 'I' 	.41 .  30 3).  .4.0- -qui * qi' 30 
jT qui q-zET 0 4 11? 
1. E 	 2. F 
3. U 	 4. V 

52. In the series 641228742153862171413286 how 
many 	pairs 	of 	successive 	numbers 	have 	a 
difference of 2 each. 
1.4 	 2.5 
3. 6 	 4. 7 

52. 1*-1 	54-011- 	641228742153862171413286 	# 

f+-d-4 Th-frf.cpTO' W 31--- R.  2 *? 

	

1. 4 	 2. 5 

	

3.6 	 4.7 

Page 7 of 24 



53. 	An integer is greathe:-  than 3 but less than 8. Also 
it is greater than 6 but less than 10, the integer is 
l.5 	 2.6 
3. 7 	 4. 9 

-63. 	lch 11171 	3tlAf+--ffstut-ertILO 
TrTfT 6 * .4.T ..it-9.  10 	1E35- ZT 1.11 * I c16 
Tuft t 1 

	

1. 	5 	 2.6 

	

3.7 	 4.9 
Direction : In each of the following letter series, some 
of the letters are missing which are given in that 
order eq  as one of the alternatives below it. Choose the 
correct alternative. (Q.No. 54 to 57) 

Wt4T : P 4,-1 Tif 3FT # ct)u T4 er-ci t 	-1f' 
;7--- 	fUti  slum * TEr 4 qct,,,,A.  Ti fc't-q TN t 1 

,_,.. 	• 	-4 TO 	57) 't-i61 	 iu RiTO 54 1 	(T 

54._abb _ba_ab 
2. abbab i. abbba

_  

3. baabb 	4. bbaba 

_abb_ 
 

54. 	ba_ ab 
1. abbba 	 2. abbab 
3. baabb 	 4. bbaba 

55. 	ab___b _baab 
1. aaab-  2. 2. abbab 
3. baaab 	4. babba 

55. 	ab_ 	_b_ _baab .. 
1. abaab- 	 2. abbab 
3. baaab 	 4. babba 

56. 	_baa_ aab_a_a 
.  aabb 	2. aaba 

3. abab 	4. baab 

56. 	_baa_ aab_a_a 
1. aabb 	 2. aaba 
3. abab 	 4. baab 

57. 	aa_ab_ ; _aaa_a 	 . 
1. aaab 

 
	2. aabb 

3. abab 	4. baaa 

57.aa ab 	; _aaa_a _ 

	

. aaab  	 2. aabb 

	

3. abab 	 4. baaa 
Direction : Find the number which is to be placed at 
the place of?' (Q.No.. 58 to 59) 

fkft : 	wicii-cict) 	1 ,, 	? 	t 	2-TT9" TR w4Ttvi 
i-itA I IF4R NO "ilb 58 t 59) 

58. 

Alp 15 

441 	
6  

58. 

filjP 441 	
6 

 
289 

10 

41111 
1. 625 
3. 256 

pipPrir 

. 
2. 25 
4. 676 

289 
10 

41it 
1. 625 
3. 256 

? IF 

2. 25 
4. 676 

59. 59.  

84 81 88 84 81 88 

14 12 18 9 ? 11 14 12 18 9 ? 11 

	

1. 61 	 2. 	21 

	

3. 	16 	 4. 	81 

	

1. 	61 	 2. 	21 

	

3. 	16 	 . 	4. 	81 

60. In the following question, the numbers in three 
alternatives are related to each other in some 
particular manner. Choose the alternative which 
does not belong to that group. 

	

1. 27 : 72 	2. 65 : 56 

	

3. 45 : 54 	4. 43 : 31 

60. 	R+-ii-MZAct 	C179. 	4 	77 	-cik 	ict,c,Li . 	4 
c-n-i 	R(pt4 	--c)- 	ti. c•ilq 	7w 	fo)-tr 	-ci- 	t 
WRifk-rd t I 31Rtriff 	rT ti4.1-r T- I 
1. 27 : 72 	 2. 65 : 56 
. 45 : 54 	 4. 43 : 31  3 

61. 	In the following series what number will come in 
the place of question mark (?) ? 
1, 9, 17, 33, 49, 73, ? 
1. 97 	 2. 98 
3. 99 	 4. 100 

61. 	1 ,.-1 	quFT 4 	w-Icircict, 	f:t 	(?) 	Turff 
IR cIA -I -Rft &ci I 31-rcrert ? 
1, 9, 17, 33, 49, 73, ? 

	

1. 97 	 2. 98 

	

3. 99 	 4. 	100 
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62. Rohit was born on April 	15, 	1988. His friend 
Anant was born 5 days before him. If Republic 
Day in that year is on Friday, then on which da

yff Anant was born? 
1. Wednesday 	2. Monday 
3. Friday 	4. Thursday 

62. 4)1 
(1,I 
3Ita.  1988 ch 	FT PAT I tftd-  L1-1-1-1 	15 

\-1c.; 
-ga 

ftk-1 31-9-  
co i 

‘3-1-1-1 	flc?) 	5 fkff TO 
2/1.  th.  1 	.-i 4mo-A 1:4---4RT 

R.-1-  prr 
Vq-f7 TI" 
? 31T-  

1. 
3. 

c01 	.--d:1-  
z.1-4TR.  

'We 
2. 7A1T-IR 

.1s1)clk 4. 16 4-1 c c1H 
63. A cube of side 5cm is painted black to all of sides 63. c."-) 5 -At. 	4.-1 Th'I-  Tit 4,1 ,w- i6) 	 4,0 trr •-\T-4 

and cut into equal cubes of side 1 cm each. How .trr * I 	.-21-r 	0 	1 	3-1.4t.  ft-zri 	41i r  4-14 	.. 
many cubes are there which have black colour on 
three of its sides. EMI -4 ft-4r t -15-13)-8 cOlt 4  N4I I fIck 
1. 	5 	2. 	12 	3. 	8 	4. 	17 y-f ti -I t -filTh 4)-1 	fl c16). 1:17 (Neil r * I 

1. 	5 	2. 	12 	3. 	8 	4. 	17 
64.  Make a group for word 'PUSH' from the following 64. t 'PUSH' .ftlf 	-ff---  tlkqt * 	.R11:jg 

word matrices. q--r-4-4 1 
o 1 2 3 4 5 6 7 0 1 2 3 4 5 6 7 

OADGH 4RUBO 

 I 

 

OADGH 4RUBO 
1 PSVZ 5 NWJ X 1 PSVZ 5 NWJX 
2 CF IM 6 TKSG 2 CF IM 6TKSG 

3 TLEQ 7 1 H 3 TLEQ 7 IHAF 
1. 	10, 66, 45, 03 2. 30, 11, 54, 10 10 1. 	10, 66, 45, 03 2. 	30, 1 	, 54, 
3. 	10, 45, 66, 75 	4. 01, 54, 66, 57 3. 	10, 45, 66, 75 	4. 01, 54, 66, 57 

65. From the 	following 	options 	select the 	related 65. 4 N t m-1-  f47 	 f4-M- II 4 , -1.4c-1 31-art --eq7 I 
words. AC : CF : ! MO : ? 
AC : CF : : MO : ? 1. OQ 	 2. PQ 
1. OQ 	 2. PQ 3. QR 	 4. OR 
3. QR 	 4. OR 

66. Select the mirror image of 'POSITION' 66. 	'POSITION' c1)1 dill.  qW.44 611 
1. MOITIO9 	2. VIOIT1809 I. 1/101T109 	 2. 1401T1809 
3. VIOITISOP 	4. NOITISOP 3. 1/10ITISOP 4. NOITISOP 

67. Ram goes 10km towards north, then he turns to left 67. 	IH' 10 Wilt 4 31-17 * 30 ii'. i-c-H AIM 
and goes 4km, then he turns to right and goes 5km, 4,4-1 30 4 14-).t. vi 1 cl 1 * TIOcIl 	t, 	14, 	qi 
and then he turns to right and goes 4km. How far is 
he with respect to the starting point? 
1. 5km 	 2. 4km 

5 Wt. *, .4-7 
cl6 3iCit 

TKITT7 
14).t. 311R-  

-cleic11 
t 13T4 

4 1 q- E 0 T 7 4 
T4(101 Ar=il .7.  

3. 15km 	1. 10km C 	* 721-F t.  r+-T-41.  7 tI 
1. 	5 14).lif 	 2. 	4 Wt.  
3. 	15 14).t 4. 	10 f.-4I 

68. In a certain code GOODNESS 	is coded as 68. 9T1EfT 14 GOODNESS 71ft.  ittfil. 	't-1 i 	P cl.) 
HNPCODTR. How is GREATNESS coded in that HNPCODTR t 3-At linsIT 14 fil. 	ui 1 cl 1 	t 
code? 
1. HQFZUODTR 	2. HQFZUM'RT 
3. HQFZSMFRT 	4. HQFZUFRTM 

GREATNESS ct'l 
1. HQFZUODTR 

' 	3. HQFZSMFRT 

1 -3T wcON ftZql.  
2. HQFZUMFRT 
4. HQFZUFRTM 

AN 411? 

69. Nitin got 18th  position out of 49 students. What is 4 18rni  721M 69. 	fift9.  49 faEFTIORTI qit-cf 	ct)c-if 
his position from the last? * 131- 	t 72T19 c1'z11 \3*Ict-)1 611? 
1. 	18th 	 2. 	19th 1. 	18th 	 2. 	19th 
3. 31th 	 4. 	32th  3. 	3  ith 	 4. 	32th  

70. If L means 'x', M means '+', N means '÷' and P L TT 3T4 'x', M TT 3TO '+', N 	3TO '4-' 70. 	qR 
means '-' then. uP_Tr PTT 3TO '-' 
14N2L7P25M1 = ? 14N2L7P25M1 = ? 
1. -25 	 2. -23 1. 	-25 	 2. 	-23 	- 
3. 25 	 4. 24 3. 25 	 4. 24 
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71. 	Identify the figure that. Completes th patterns of 
figure (x). 

71. 	ict)c.4-4 Ti ti cad  31T-T-t V7 vi) 31T 5f 	(x) 
4)1 4-0 10 chi .-k I 

<---i; ? 
(x) (x) 

(1 ) (2) 	(3) 	(4) (1) 	(2) 	(3) 	(4) 
72. 	Identify 

figure (x). 
the figure. That completes the pattern of 72. 	3TTTt (x) chi 	It-0 TT ct).) $ I7 Tief 

ft-47Fr 1-ft7 1 

? 7 

-. + -- + 
(x) . (x) 

( 1 )  (2) 	(3) 	(4) (1) (2) 	(3) 	(4) 
73. 	Select a 

would 
unfolded 

Questions 
. 	 
I 

I 

, 

most 

I I 

figure 

figure 

from amongst answer figures, that 
closely resemple the sheet, when it is 

_ , 
i 
i 
1 

73. \3-K-R 34-red -t 14 -R4 c16 31-71 	-f7 ut) 	w.-1 

31-1 - 	it ct)I 4 M 	-)) VI 	1)---J4 4tH WIT ' -)-Ift I 

W-1  3T1Tit  

,,,, 

, 

I itt, 
Answer figure 

0 	0 
00 0 0 

0 	0 
0 0 

(1) (2) 
(1 ) (2) 

0 0 0 0 .C%' 0 

(3) (4) (3) (4) 

74. Select 

Figure 
would complete 

matrix 

a figure from 	the 	four alternatives that 
the figure martix. 

74. r4M-F:h 14 	c4 3Tly-f 	47 ul) frOTI* 
3T1 - 	cl)) tkfl 	cll'L '. 	I 

#1: 9' &FT-ft 
0 

0  0  000  0 0 0 000  

? 	AAA  
e ? 	°A° 

Answer f gure \3-c-ts 	3TT-Tt 

M III V vv  AA N • v vv  AA, 
(1) 	(2) 	(3) 	(4) 

(1 ) 	(2) 	(3) 	(4) 
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75. 	Select a suitable figure from the four alternatives 
that that would complete the figure matrix. 

Figure matrix 

75. 	Rct)e{4I 	A 	t 	c 	arrfi - 	1-fk7 	 - 

3rt--0-  ct>1 to cm 	I 

tWORT 31-rTf - 

Ilk SI 1 I% AL IF W' 1117 Si 2 lir El 

NW 1117 r7 N. VT Cii 
W IV ? NW IIII ley 2  VE. IV 

Answer figure \3-K-1 	3fr-T 

IV 
H 

n D . E © D. ©
AT .E 

(1 ) 	(2) 	(3) (4) (1 ) (2) 	(3) 	(4) 
76. 	Four usual dice are thrown on the 

faces show 4, 3, 1 and 5 respectively. 
sum of numbers on faces touching the 
1. 	12 	 2. 	13 
3. 	15 	 4. 	17 

ground. Top 
What is the 

ground. 

76. 211 	*11 4-11-Q1 1Rt 	ct 	Mt- 	1:R 	th.\-wr 	+N I, 

3.1c. 	-coll \314 	C41( 	tb--- 	tH 	st) 4-in 	4, 	3, 	1 

q 5 31* 3fl 	I URt 	ct)) 	U.) 	cl 1 c4 1:5d -W1 TR 

3i-  

	

1. 	12 

	

3. 	15 

41 ,1 	ci-zil 	0'111 

	

2. 	13 

	

4. 	17 
77. 	Find the number of triangles in given figure. 

1. 5 	 i 
2. 7 
3. 9 	

Alr 4. 10 

77. tt 717 3TT-01 

I. 	5 
2. 7 
3. 9 
4. 10 

14fl-p-): 	.61 	fl.tczi 1 	cV-11 -1-111? 

.„,A .- - 
78. 	Find 	the 	minimum 	number 	of straight 

required to make the given figure. 
lines 78. tt 	4 1 	3T17M-  qt)) 	-q7.14 	ft-dt 	-T101-1 

,MM 	fr Tft-7 I 

1. 	13 
I. 	13 

2. 	15 
2. 15 

3. 17 
3. 	17 

4. 	19 
4. 	19 

79. 	Group the given figures into three classes using 
each figure onl 	once. 

79. Flif 347ffTil cp) 	cfi-i 	coil' 	14 	4ift7, 	;k-- • 

clii 	-4 	c_4-) 3T(-f 	-) 	G111 ft 311-44t 'Tft-7 I 

/ 

1 	-) 	3 	4 	5 1 	2 	3 	4 	5 

6 	 7 	8 	9 
1. 1,2,4 ; 3,5,6 ; 7,8,9 
2. 1,7,8 ; 3,5,6 ; 2,4,9 
3. 1,3,4 ; 2,8,9 ; 5,6,7 
4. 1,7,8 ; 2,3,6 ; 4,5,9 

6 	 7 	8 	9 
1. 1,2,4 ; 3,5,6 ; 7,8,9 
2. 1,7,8 ; 3,5,6 ; 2,4,9 
3. 1,3,4 ; 2,8,9 ; 5,6,7 
4. 1,7,8 ; 2,3,6 ; 4,5,9 
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80. 	Out of four figures given below, three are like in 
some manner but one does not follow that pattern. 
Select that figure. 

80. 	c.I .1 	-c-IN 3TreciTt # t c 	3TigaTit 

7' 17 	311-M7 77 	-1 4-11.-1 	* 417 	-) 	-icl 
qci-)k t -P--. -gl 	ftr----f 3TITI 	Zffr PTT 

Thclri7 I n 1, 5 .... . . r__I  
Es m  ml, g (1 ) (2) 	(3) 	(4) 

(1 ) 	(2) 	(3) 	(4) 

81. 	Which of the 
completes the 

Original figure 

figures given in 	four alternatives 
original figure? 

81.  -clk fct,c-41 14 t .11—t 	-11 317-fa.  ITF 3704 

c1-) 	vr - 7--& t? 

-T: 	3{re 

/ I 

\ . 

Answer figure 3vk 3IFT- 

(1 ) (2) 	(3) 	(4) (1 ) 	(2) 	(3) 	(4) 

'2. 	In 	which 
embedded? 
Questions figure 

answer 	figure 	question 	figure 	is 82.  cf-1.-1 #1 \3-c1k 31 - 14 .1;77 3T.FT 	,14-iaci 

,q-79-  3 TFT- 
. 

Answer figure \3-c-  k 311-T 

107 
0' ( 
i ji0 0 ()yip 

0 
CCI 010 °C---(------4  0 04  T0 0 

(1 ) 	(2) 	(3) 	(4) (1) 	(2) 	(3) 	(4) 

83.  Choose the correct mirror image of figure A from 
the four alternatives. 

83. 	7 	4 ILr 	nct)(A4). 	t 	3TTO4 	'A' 	(IA 	•' 
qi,-(1 

/11/1/1/1/11,111//1/1 a 
/7/1/1/17M1T/1/111111 

(A) (A) 

P-%)  V-Y-' P-%  

(1 ) 	(2) 	(3) 	(4) (1) 	(2) 	(3) 	(4) 
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84. 	Find out how will the key figure (X) look like after 
rotation through 90° in clockwise direction. 

84. 	'TO 31Ted.  (X) .q11.  Th.el itc4IT 4 90° Trr4 zR 
*it it? 

N1 I' I L.( 

* * 
71/  17.1k 7/1 571 

(X) (X) 

	

jk 	L 

* 

	

:471 	IR 

_ )._1( 	12 __V 

* 
..3vi 	'a 

)_ii. 	Lam 

* 
`1 A.--?] 	1 0--( 

)±], 	p__f 

* 
541 	I- 

(1) (2) (1) (2) 

14i 	12_W  

* 
J71 	K 

V_L1 	LAL( 

* 
471 	13i. 

III 	Lo  

* 
rd 	Nr—. 

N 	[AL 

* .7 	FA 
(3) (4) (3) 	 (4) 

85. Choose the mirror image of figure 
alternatives 

'A' from given 85. -Nq -Trq- 	ncl,,,I). 	t 	3 ITT:fa 	'A' 	CPI 	4t1011, 
qffftTzf -qiq 1 

6 
\ (A) (A) 

(1) (2) 	(3) 	(4) (1) 	(2) 	(3) (4) 

86. Choose the figure from alternatives 
question figure is embedded. 
Questions figure 

in which the 86. ‘31-k 31Tetzft 14 .). 	ci 	3TTTffi 	1-14q. 	f' 14 
51.-1 31-r-e0-  fkro 0 1 
.rftT arr-T- 

Answer igure 3-c1 	3Tfed- 

61 
6) 

L7:\ 
ZCZ\ 

(1) 	(2) 	(3) 	(4) (1) 	(2) 	 (4) 
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. 	A 	dice 	has 	been 	thrown 	four times 	and the 
following result is obtianed which number does 
appear opposite to the number 3? 

87. 	c.t) 	1:11 	C.1)) 	zik 	GIN 	th--4 z17 	.1 1:ff itP-Tftzll 
31-Ft t I tb-- 	3 	qt-l& 	II') 	Lbcrict) 	" 
c,1 	-I A 	-icq.11 .&T‘ft? 

6 AEI IIV 
6  Air Aar Atlar 

3 2 5 
3 2 5 3 

	

1. 4 	 2. 	5 

	

3. 	6. 	 4. 	1 1. 	4 	 2. 	5 
3 	6 	 4. 	1 

:8. Choose the box that is similar to the box formed 
from the given of paper 'x'. 

"x" 88. 	c 	.5114x-1 Utit7 u1) t 41 	coi 41\3-1 	4 711z 
t 	,1,-tR1r 	\sil 	,<-1c1 

F F 

A E A E 

B B 

C D C D 

(x) (x) 

Air D Airr  D 

B E B E B E B E 

(1 ) (2) 	(3) 	(4) (1 ) 	(2) 	(3) (4) 
89. 	How many 

three dots, 
a cube? 

dots lie opposite to the face having, 
when the given figure is folded to form 

't 	 - 89. 	uici 	1-1-- 	3Tr-Tit 4,) lcl, 	q.,1 -441-7 ,,t.4 	14 

uiN 4 ii -th t-ff f4--s311 cild 	Cid Trli Ocl 

tH it-T4 	0.4)? 
• • 
• • 
• • 

• • 
• • 
• • 

• 0 
• 
•• 

• • 
•• • •  • 

•• •• 
• 
• • 

• 
• • ••• • • • 

• 
• • 

1.2 
3.5 

2.4 
4.6 

1. 	2 
3.5 

2.4 
4.6 

90. 	Choose the figure which is different from the rest. 90. 	c16 3Tlyt Vi-q.  71 31171 t fkM t 

(1) 	(2) 	(3) 	(4) (1 ) 	(2) 	(3) 	(4) 
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PART - II 
SCHOLOASTIC APTITUDE TEST (SAT) 

trzfm Irttur 
(QUESTIONS NO. 91-180) 
	 *ill 91-180) 

91. The property of plane mirror to make 'right appears 
as left' and viceversa is called 	 
1. Vertical inversion 
2. Lateral inversion 
3. Reflection 
4. Refraction 

91. .‘99c1c1 	41ful 	ct>1 	0 	ttul 	-1 -T114. 	TRT 	Or) 
•Cfrd-r44 4 	cN-c-j cor wzrt ITPT 41 .  31t- 	qfzri 
'41-Fr 41-1 	3IYR.  f4ZKIT 	t-icil 	t I 	*fl 	LiNt-il 
ct)  	ct)c) 	* I 
1. 	Li 	ci 	-I 	2. 	774 4Rcici-i 
3. 	Lkl€4-1-1 	 4. 	3T1:1449 

92. The distance between the 	object and 	its 	image 
formed by a plane mirror appears to be 30cm. What 
is the distance between the mirror and the object? 
1. 30cm 	2. 60cm 
3. 	10cm 	4. 	15cm 

92.  c.t) 	‘d 4-ic1c4 	qtruf 	-' 	-UT 	"4-ffT 	+1 	qf 	,-.4 

3-t17 cN-cA * .41-- 	cA VI 30-#1t. Wrff -0-th 

t I ck-q 311- 	--ctuf .- .4t- 	4 -0 cmt t? 
1. 	30 *fr. 	 2. 	60 #1:11. 
3. 	10 441. 	 5. 	15 *Ir. 

93.  List of mediums is given below :- 
(i) 	Wood 	(ii) Water 	(iii) Air 	(iv) Vaccum 
In which of these mediums can sound travel? 

	

1. 	(i) & (ii) 	2. 	(iii) & (iv) 

	

3. 	(i), (ii) & (iii) 	4. 	(ii), (iii) & (iv) 

93. 111U-Ft 4 -RIt *-1 qc-PH * :- 
(i) 	"WII. 	(ii) 	v1M 	(iii) .41-?j 	(iv) 	-ft-Eff 
*.-I 	A- 	t 	f -9- 	.9-RzFul 	-4 	flzi,o-,1 	c.t, 

"TiTh-t t I 

	

1. 	(i) & (ii) 	 2. 	(iii) & (iv) 

	

3. 	(i), (ii) & (iii) 	4. 	(ii), (iii) & (iv) 
94. Light is falling on surgaces L1 , L2  & L3  as shown in 

the figure 

\ 
L 

94. -R=IT 	1 -I 	14 R.qiqr 	4 vir * wpm 	L1, L2 
2.1f L3 -clt 	IR k-1. 	'61 g- 

1 	/1////11711.1111/111111”7/111/1/11/1111,1111 

\ 	\ 
L2 

L3 	"fliNI)  I* 	\rolif\ 

Surfaces on which the angle of incidence is equal to 
angle of reflection is/are :- 
1. L1  only 	2. L1 & L, 
3. L2  & L3 	4. All the three surfaces 

L1 	/Mil l/1111/11,17717/1/11/1711/1111/111111/ 

\ 	\ 
\ 

L2 

3  ()4A\f/N 
c4 	TZ -11.  zi-R.  31TEM-9- 	--)-u-r LNIcal m-tur 

* ciNIGN t :- 
.ff2TT 1 . 	C. 	Cid 	L1 	 2. 	L1 	L2  

3. 	L2  "ffQ-IT L3 	 4. 	t-9- 	Litd 	IR 

95. Burning of a meteor in the atmosphere is due to - 
1. Electrostatic force 
2. Magnetic force 
3. Fricitional force 
4. Gravitational force 

95. cilTiSc4 14 	ic.rcill 	utcl.) 	cPI 	4)1'0)1 	34- 

c11-1 -ffT t? 
1. 	-1-21-R-t-tp Glei 	2. "Ttl Eiri 
3. 	qtful GR-1 	 4. VcclictAlul cid 

96. Owls can see very well in the night but not during 
the day because :- 
1. It has on its retina a large number of cones and a 

few rods 
2. It has on its retina large number of rods and a few 

cones 
3. It has on its retina equal number of rods and 

cones 
4. It has on its retina no rods and no cones 

96. 

. 

Ic.,\-1, SRI cb) 3TR1T4 t tZff fl 4)(11 g 117-t 

ftff 14 -1 gi4z1-If 	:- 
-T 1. ---- tr9T -4 .q-li \i-icqiT:1 7fOc) t 

1c,ict)1q  31'17 TaiE§ 	A-th t I 
'Mr 2. ..T1-4)" 	ft9T 14 -411. ,-icq-11 14 	1r14 

t 31 	UT ei -VfT 6)a t I 
3. *-Ict) .-ftql- 14 st1111-1 	.-k.,q-r1 	14 tT q 

leict)lq gtdl g 
4. *flci\) 	M 14 'q 	1 richlq  
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97. 	The 	ultrasound 	equipment 	used 	for 	medical 
problems 	works 	at 	which 	of 	the 	following 
frequencies :- 
1. 200Hz- 2000Hz 
2. 2000Hz - 4000Hz 
3. 2Hz - 200Hz 
4. 20,000Hz - 40,000Hz 

- 2000Hz  

97. N14-)c-\91 	-4 	3rI 	3TT4 	cud' 	3T- TTIT 
\i4cmu1 1- 4,1 	4- 	.R:). 	14).-i 	3B--fd-z-44. 	* 	fci q 

t :- 

- 4000Hz 
- 200Hz 

- 40,000Hz 

3̀4TKi 
1. 200Hz 
2. 2000Hz 
3. 2Hz 
4. 20,000Hz 

98. Wall (IA 
t 
... 

. 

-*(c) 
lomme Press 

1--(cn 

there 	is a block being pressed 
as shown. In which direction will the 

act? 
2. (b) 
4. (d) 

98. Wall (b) 
t 

4 	Press 

.•..--.(c) 

'i' 
 

\ N 

& 

:iii 	t, :i.3);:ik: 

1  
+ 
(a) 

diagram 
wall 
friction 

(a) 
In 	this 
againsts 
force of 
1. 	(a) 
3. 	(c) 

*•<-i i' 14Lc' 	6r11cfi 	ct, 	tt4F * -Ti-r2T ----4T-4 
.)cf)l 	+NI * I tItiul cid 	1 fOrr f'-'1 4 

:-  
2. (b) 
4. (d) 

t ct-ll 	Tfl 
1. 	(a) 
3. (c) 

99. 	Electric current when passes through a conductor 
produce :-- d1 
1. Heating Effect 	2. Chemical Effect 
3. Magnetic Effect 	4. All of the above 

. 

99. vi c4 -1'47' z..Tru -1:---41 -clieict) 14 t -g7R-dt t 

ctA.-1 -RTr i;r3-Tr4 \ik-,4,--1 	61di t :- 
1. 	--141.4 741-r4 	2. 	'\'-IRPcr) PIM- 

3. 	liz4 	rz1 i;141-m- 	4. 	\34N)crc1 Tit 1;11ifq 
100. 	Which of the following is not measure to limit noise 

pollution. 
I. Planting tree along the roads 
2. Using silencer in heavy engines 
3. Bursting of crackers 
4. To set up industries away from the residential 

areas 

100. 1 1---i 4 t ct-l-i 	-iT -fftITT z-qi -  ATM WI c+-1 

7-1 ctr ,) m-r fftrwr 	- 
1. fl.,ct) 
2. lilt 

.W9-I 	AR 1)--.1 qi 411.11 I 
c116-11 -W 	v1-I 14 t11*(4‘4-H r1411.11 I 

3. AI' miril-if 
4. cf)M51.-I).  -R-Q.Tri-cra ct-)) 311-413-t1a-Tt t 7 

cm.ii 1 
101. 	The planet which have least period of rotation is :- 

1. Jupiter 	2. Saturn 
3. Uranus 	4. Neptune 

101. IF c01-1 t W. -1E& cblri W43) WTI *? 
1. 	1-- 34:Eft 	 2. 	Y1 
3. 	*97-T 	 4. 	tZ-A-9' 

102. 	Which constellation is called 'Hunter'? 
1. Cassiopeia 	2. Orion 
3. Ursa major 	4. None of the above 

102. r+-Ti-  clkiliur1 ct.)) 1-41(01) qt1 gm 	P 

1. 	cM1H-1)NI 	 2. 34-41' 
3 	-Rill-fif 	 4. Tffi4 t chi 	rigi 

103. 	The fibre obtained by the chemical treatment of 
wood pulp is :- 
I. Terglene 	2. Nylon 	 • 
3. Rayon 	4. Acrylic 

103. q,--t 	A 	t 	q 	fir 	11 	cOltdcl'cr) 

•fltIN-Act) ‘it-1-cik t miLc-1 6)01 t? 

1. 	aml 	_ 	2. 	-1141A-1 
3. 	tz:119 	 4. 	'cre-NRAct-) 

104. 	A cold steel spoon is dipped in a cup of hot milk. It 

transfers heat to its other end by the process of :- 

I. Convection 	2. Conduction 
3. Radiation 	4. None of above 

104. 3tra.  A Lch 
t I 

-a'-‘1 T-144-1-c1 7111 	* tzfrj74 

741 q zi6 374 V-i 	1 -1 	'ffW ‘irail Tr 

3--2Tr9t-dur it-ii vw9. 	TAT m----41.? 
1. 	•41c16-1 	Ill 	2. 	titet-i 	gki 

3. 	i4i4)1 gm 	4. WI-R-1-4ff 4 4 q))-4 

105. 	Which one of the following has highest calorific 
value? 
1. CNG 	2. Biogas ,, 
3. Hydrogen 	4. Methane 

105. 4 i"i-g-f .9-1-ff/ t 	fitot 	ci;eilRfib-T 
W3T1-4_TIM 31-RI-WM:I t? 

2. 	-4 
3. 	1h)\"1-1 	 4. 	#109.  4-1 
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